
R

21

10

20

8

16

4

259222

15

1

17

12

11

19

5

7

24

14

23
6

1813

26

ITEM 
NO.

PART 
NUMBER DESCRIPTION 72020  

/QTY.
72023 
/QTY.

1 17528 WELL, FOOD WARMER 1 1
2 17868 "D" SHAPED HEATER GASKET 1 1
3 4350811 WAGO WIRE CONNECTOR (3) 1 1
4 17074 THERMOSTAT, SHORT CAPILLARY 1 1
5 17012 KNOB, CONTROL 1 1
6 17024 STRAIN RELIEF 1 1
7 1755901 PILOT LIGHT, BLUE - 120V 1 1
8 44407 HI LIMIT ASSEMBLY 1 1
9 25438 THERMOSTAT, REGULATING 1 1
10 350297 CORD ASSEMBLY 1 1
11 2515840 POWER SWITCH, MAA0A-BL/ON/OFF 1 1
12 2515841 INDICATOR LAMP, 125V RED 1 1
13 44640 HOUSING (SATIN CHROME) 1 1
14 44613 CONTROL PANEL 1 1
15 17015 CLOSED CELL FEET 4 4
16 17019-3 #6-32 KEPS NUT 3 3
17 17014 SCREW, #10-32 X .625 THREAD ROLLING 3 3
18 17020 SCREW #6-32 x 1/2" PH RD 2 2
19 17076-3 SCREW 4MM X .7MM D 6MM 2 2
20 17496-3 SCREW 6-32 X 1/4" 4 4
21 17018 SCREW, #8 X .500 LG THREAD CUTTING TYPE 25 12 12
22 17117-3 SCREW 10-32 x 1/4" PHILLIPS 1 1
23 25181 #6 INTERNAL LOCK WASHER 1 1
24 17418 LABEL - CONTROL HS1220 UL 1 1
25 44273 D Heater 1000W 1 -
26 44262 CAST HEATER - 1440W 120V - 1

www.vollrath.com Page 1 of 1 © 2018  Document No.  72020_72023-OSI  Rev. D

HEAT 'N SERVE FULL SIZE RETHERMALIZER PN: 72020 & 72023


	Sheet1
	Drawing View1


